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Note: attempt any Five questions by selecting?

real root of convergence of Secant method
Q.2 (a) Set up Newton's scheme of iteration for finding the pth root of positive number N
(b) A function y = f(x) is given by following table

| 00 [02 _ [04  [06 |08 (10
y 00000 _ (00456 |0.1278 03494 |04027 | 04825
Evalute /'(0.85) and /" (0.85)

(c) Prove that b = A(1 +3)(1 +8)*

Q.3 (a) Evaluate j':sim' dx by simpson's rule dividing the range of integration info six equal parts

2
(b) Compute the integral by trapezoidal rale I = (=] ¢ dx with h=0.125
irapezo o

(c) 5?1‘1": the system of equation by Gauss-Seidel method
0x+y=-2z=17, 3x+20y-z=-18, 2x=-3y+20:=125
Section— Il
Q4 (0) Miximize = z=2x; +x3
Subject to 55 +25; £200, 5x; +3r, 5255, %% 20 .
First convert the primal problem into dual and then solve by graphical method
(b) Compare the starting solutions obtained by North west comer and least cost method

~ 0 2 : 6
2 1 5 7
2 4 3 7
3 b 10

(b) Find associated cos

- cO
Subjectto x4y <2, x+y£.6, x+2y<9, 1 0 ﬂ
Solveby Simplex method @‘m

] Supply

AN A VBT 17 8 1500

M 14 8 5 1250

19 12 10 7 2250
emand | 1100 800 1500 1200
Section I11

(Q.6.(4) Find the solution set of the eqution 45+ 63y = 450
(b) Show that if both ‘x’ and 'y" are odd then there does not exist integer ‘z’ such that x2 4 y? = 22
**. (c)Find the remainder when 7% is divide by 8

(.7 (r) Prove that Int (A) 15 an open set

(b) Prove that every open sphere in & metric space X i an open
* (c)Let Aand B we the subsets of 4 topological space X then show that [nt (4) = Ext(A")
(38 (8 Broe that 6 product of any those consecutive integers 8 divisible by 6. |
(b) Prove that A — V= AV where A and mewnﬁmd backward difference operators
(€)1 P isaprime such that P/, o wd”/ then prove tha A
(d) Write two advantages and disadvantages of Bisection method

(¢) Define closure of a set with its example.



